LESSON

16 Nl::actice A DATE

For use with pages 44-50

Use the figure at the right.
1. Are 21 and £2 adjacent?

N

. Are £1 and £2 a linear pair?

3. Are £3 and Z4 a linear pair? = 5
4. Are /2 and £5 vertical angles? 4\
5. Are £ 1 and £ 4 vertical angles?
6. Are £3 and £5 vertical angles?

Use the figure at the right.
7. If ms6 =78 thenm/7 = 2 .
8. If ms8 =94° thenm/6 = 2 . ) 7
9. If mz9 = 124°, then m/8 = 2 .
10. If m£7 = 47°, thenmz/9 = 7 .
1. If ms8 = 158°, thenm/9 = 7 .
12. If m£7 = 15°% thenm/6 = 7 .

In Exercises 13-16, assume ~ A and /B are complementary and 2B
and 2 C are supplementary.

13. fms A =42°, thenms/B = ? andmsC= 1?7 .

14. If ms/B =78, thenm/ZA = ? andmsZC= 1?7 .

15. f mszA =17°, thenm/ZB = ? andmsZC= 1?7 .

16. If m/B = 45°, thenm/ZA = ? andmsZC= 1? .

Find the value of the variable.

17. 18. 19.
110° %48?
64° >[(48 + x)°

(2x + 40)°

20. 21. 22.
(3x + 8)/
75°\(2x — B)° / (2x + 8)°\ (3x + 17)°
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